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31- We are going to hold a general meeting to discuss several … problems such as 
unemployment and drug addiction.  

1) unique 2) artistic 3) social 4) cheerful   

32- There are nearly 7000 languages spoken across the world today. Despite this …, most of the world’s 
population speaks only a small number of these languages.  

1) identity 2) discount 3) diversity 4) custom   

33- Mary had not seen her neighbor for 15 years, but she … her immediately.  
1) developed 2) recognized 3) compared 4) reflected   

34- It is a fact that in some cultures people … greet each other by rubbing noses or pressing noses 
together.  

1) fluently 2) uncertainly 3) morally 4) traditionally 

35- An increase in tourism and making and selling handicrafts are good ways to help a country’s … .
1) homeland 2) wellness 3) souvenir 4) economy 

36- I think that parents have to find ways to show their children that they … their feelings and reactions. 
1) appreciate 2) collect                          3) depend  4) produce   

PART B: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice 
on your answer sheet. 

Domestic tourism is the act of traveling for business or entertainment within one’s home country. It is 
the main driving force of travel and tourism in major economies. In fact, in 22 countries of the 31 
countries we analyzed, domestic tourism accounted for at least 50% of the total travel and tourism 
spending, with Brazil ranking first with 94% of the expenditure coming from domestic tourists. Brazil is 
followed by India, Germany, China, and Argentina, each with 87%. Japan, Mexico, the UK, and the US 
also enjoyed significant domestic spending levels – all at 80% or more. Strong domestic tourism in most 
of these countries is caused by a growing middle-class population, an increase in spending power among 
people, governments’ policies in promoting new locations, and improving transportation infrastructure 
and economic links between different regions of the country. For instance, China has built an average of 
eight new airports every year since 2013 and rapidly developed its high-speed rail network over the last 
15 years, which has opened up previously remote places to domestic tourists. In India, the government 
plans to build 100 new airports with a budget of 60 billion dollars over the next ten to fifteen years to 
increase the demand for domestic travel. 

37- What does the passage mainly discuss? 
1) The reasons why domestic tourism is better than international tourism 
2) The plans of some Asian countries to increase the demand for domestic travel 
3) Successful countries in domestic tourism and the reasons behind their success 
4) The advantages and disadvantages of international tourism 

38- The underlined word “It” in line 1 refers to … . 
1) domestic tourism  2) the act of traveling       
3) business  4) country 

39- The underlined word “links” is closest in meaning to … . 
1) habits 2) tongues 3) sites 4) relations 

40- It is suggested by the writer that strong domestic tourism … . 
1) is something that developing countries can never experience 
2) depends on economic factors and governments’ policies 
3) is not important for a healthy economy in a society 
4) cannot be possible in a society unless its people respect moral values 

PART A: Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct 
choice on your answer sheet. 

  2 
  

Art and Culture  
(Get Ready, 
Conversation, …, 
Vocabulary 
Development)  

 3  
8194  

15
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41- We are going to talk about some important … and take decisions on the most immediate things we 
need to focus on now.  

1) crafts 2) images 3) items 4) noises 

42- It was a very … moment in the film when the mother got aware of her son’s death but still couldn’t 
believe it.  

1) boring 2) increasing 3) confusing 4) touching 

PART B: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice 
on your answer sheet. 

PASSAGE 1: 
Until a couple of years ago, Mars has always been the top candidate for a planet other than Earth where 
life might be found. What if Mars disappoints us? Are there other candidates in the Solar System?

The answer is yes, and the next-best shot at finding extra-terrestrial life forms is on Europa, a moon of 
the planet Jupiter. Right now, there is no other body in the Solar system that attracts as much scientific 
attention as this bright strange-looking moon, the smallest of Jupiter’s four large satellites. These 
satellites (as you would approach them moving outward from Jupiter) are Io, Europa, Ganymede and 
Callisto. 

Europa seems like a good bet. Life might be a bit strange, but perhaps not a lot stranger than the life 
forms recently found around hot vents in the abyssal ocean. Liquid water and sources of energy are the 
essential prerequisites for life. Europa might well have them. Strong tidal heat could keep the inside of 
Europa warm enough to have liquid water beneath a layer of ice. Therefore, any organic compounds 
would be mobile, in water. They could interact. 

43- Which of the following questions is the one which the passage is mainly concerned with? 
1) What are the features of Jupiter? 
2) What are the similarities between the Moon and Europa? 
3) Why do scientists think Mars is unlikely to have intelligent life? 
4) Where else in the Solar System (except Earth and Mars) is life likely to exist? 

44- Of Jupiter’s four satellites, which one is the farthest to this planet? 
1) Io  2) Callisto  
3) Europa  4) Ganymede 

45- Of the words used in the passage, which one can replace the word “bet” in paragraph 3? 
1) life 2) satellite 3) candidate 4) attention 

46- Why does the author mention the word “ocean” in paragraph 3? 
1) To give us a better sense of what possible life forms on Europa look like 
2) To indicate the similarities between the conditions on Earth and those on Jupiter 
3) To prove that the water needed for life to originate can be found in some parts of the Solar System 
4) To discuss the reason why life forms on planets other than Earth would essentially be strange in form 

  

PART A: Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer sheet. 
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PASSAGE 2: 

On 15 February 2009, Diane Van Deren was one of a dozen runners taking part in the Yukon Arctic 

Ultra, a 700-kilometre race across frozen tundra in the middle of winter. Not a single woman had ever 

completed it. With temperatures of 30 degrees below zero and only seven hours of daylight each day, it’s 

probably the toughest race in the world. 

But, then, there is no woman like Diane Van Deren. Twelve years earlier, Van Deren, a former 

professional tennis player, had a kiwi-size piece of her brain taken out. It was part of the treatment for 

the epilepsy, a disease which she suffered from. The operation was successful, but she noticed a strange 

side effect: she could run without stopping for hours. 

At the start of the Arctic Ultra, icy winds froze Van Deren’s water supplies, so she had nothing to 

drink for the first 160 kilometers. She kept going by sucking on frozen fruit and nut bars. On the 

eleventh day, the ice beneath her feet cracked open and Van Deren fell up to her shoulders into a 

freezing river. She managed to climb out but struggled to continue. Her soaked boots had frozen to her 

feet. 

47- What is the main purpose of the author? 

1) To describe a new competition 

2) To explain why Diane Van Deren is famous 

3) To emphasize the importance of patience for athletes 

4) To describe the achievement of a specific sportswoman 

48- The underlined word “it” in paragraph 1 refers to ... . 

1) frozen tundra  2) winter  

3) the Yukon Arctic Ultra  4) running 

49- Which of the following is NOT true about Diane Van Deren, according to the passage? 

1) It was her skill as a tennis player that helped her succeed in running under difficult conditions. 

2) She could not run without stopping for hours before a kiwi-size piece of her brain was taken out. 

3) Although she lost her water supplies in a race she participated in, she managed to get the water her body 

needed from other sources. 

4) For some time during her life she stayed in a hospital for a health problem which she got rid of after doctors 

did whatever was required to remove that problem. 

50- The passage suggests that those taking part in the Arctic Ultra ... . 

1) should be able to run for hours without any need to stop 

2) have to be physically in good condition to finish it 

3) can finish under a week’s time 

4) need to be women only 
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131- Thomas  Edison, one of the most famous inventors in history, died … October 18, 1931. 

1) on 2) in 3) at 4) of 
132- The students …. hear what their teacher is talking about because he is speaking very 

quietly.   
1) should 2) can’t 3) shouldn’t  4) can 

133- I really don't know why one of my uncles … that parents are responsible for their children’s 
behavior.  

1) wasn’t believing 2) doesn’t believe 3) don’t believe 4) isn’t believing 
134- The driver increased speed to reach the final … in time that evening, and at last he succeeded.  

1) information 2) suggestion 3) emotion 4) destination 
135- There is no better and suitable place for those who are in search of a free … than the beach.  

1) entertainment 2) experience 3) noise 4) experiment 
136- The old villager was very … to us when we had to stay in his home for two days. He tried to make 

us feel happy all the time.  
1) probable 2) hospitable  3) domestic 4) ashamed 

PART B: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice 
on your answer sheet. 

Maryam Mirzakhani was one of the greatest mathematicians of her generation. Mirzakhani was born in 
1977 in Tehran. She was the first woman and the first Iranian to be awarded the Fields Medal. In high 
school, she won the gold medal for mathematics in the Iranian National Olympiad. In 1994, Mirzakhani 
became the first Iranian female to win a gold medal at the International Mathematical Olympiad in 
Hong Kong, scoring 41 out of 42 points. The following year, she became the first Iranian to achieve a 
perfect score and win two gold medals at the International Mathematical Olympiad. In 1999, she 
received a degree in mathematics from the Sharif University of Technology in Tehran. Five years later, 
she earned a Ph.D. from Harvard University. 

Despite the fame and attention she received, Mirzakhani remained humble, always avoiding the 
spotlight. She listened to the work of other mathematicians with excitement. At conferences, she could 
be found talking with graduate students and Fields medalists alike. Mirzakhani was diagnosed with 
breast cancer in 2013. In 2016, cancer spread to her bones and liver. She died in 2017 at the age of 40 at 
Stanford Hospital in Stanford, California. The Fields Medal, which Mirzakhani won in 2014, is 
considered the highest honor in mathematics, often equated with the Nobel Prize. 
137- There is enough information in the passage to answer which of the following questions? 

1) What were the problems that Mirzakhani solved? 
2) Where did Mirzakhani receive a perfect score in the International Mathematical Olympiad?  
3) How many Iranian men and women have won the Fields Medal so far? 
4) Who was the first woman to receive the most important award in mathematics? 

138- Which of the following is TRUE about Maryam Mirzakhani, according to the passage? 
1) She was the greatest mathematician in the world.  
2) She liked to be a worldwide famous mathematician. 
3) She was diagnosed with breast cancer when she was about 36. 
4) She was the first woman to win the gold medal for mathematics in the Iranian National Olympiad. 

139- The underlined word “spotlight” in paragraph 2 is closest in meaning to .... . 
1) care  2) attention 3) interest 4) range 

140- The passage would most probably continue with a discussion of ... . 
1) why the Fields Medal is so important  
2) how cancer spreads to the bones and liver 
3) some interesting facts about the Nobel Peace Prize  
4) other famous mathematicians who died of breast cancer 

PART A: Grammar and Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on 
your answer sheet. 

  1  
  

The Value of Knowledge 
  )Listening 

and Speaking(  

Traveling the World 
  )Grammar(

 3  4  

   87  111  
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141- When speaking to a/an … visitor, it is perhaps best to speak English a little slower than usual.
1) local 2) domestic  3) national 4) international 

142- All these valuable plates must be carefully … in boxes and transported; otherwise, they may break 
into pieces.  

1) invented  2) packed 
3) invited  4) retired 
PART B: Reading Comprehension 
Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct 
choice on your answer sheet. 

PASSAGE 1: 
Liquid water cannot stay on the surface of the Moon. When exposed to solar radiation, water quickly 
disappears through a process known as photodissociation and is lost to space. However, since the 1960s, 
scientists have hypothesized that water ice may be carried by impacting comets or possibly produced by 
the reaction of oxygen-rich lunar rocks, and hydrogen from solar wind, leaving traces of water which 
could possibly remain in cold, permanently shadowed craters at either pole on the Moon. Computer 
models suggest that up to 14,000 km2 (5,400 sq mi) of the surface may be in permanent shadow. The 
presence of usable quantities of water on the Moon is an important factor in making it a practical plan 
for humans to think of living on the Moon one day; the alternative of transporting water from Earth 
would be very expensive. 

In years since, signs of water have been found to exist on the lunar surface. In 1994, the bistatic radar 
experiment, located on the Clementine spacecraft, indicated the existence of small, frozen pockets of 
water close to the surface. However, later radar observations by Arecibo suggest these findings may 
rather be rocks projected from craters. In 1998, the neutron spectrometer, located on the Lunar 
Prospector spacecraft, indicated that high concentrations of hydrogen are present in the first meter of 
depth in the regolith near the polar regions. In 2008, an analysis of volcanic lava beads, brought back to 
Earth aboard Apollo 15, showed small amounts of water to exist in the interior of the beads on the 
Moon. 

143- Which of the following questions is the main focus of the passage? 
1) Does the Moon carry any water? 
2) Why do we not know enough about the Moon? 
3) Where does the water on the Moon come from? 
4) Are the conditions on the Moon suitable for human life? 

144- The author refers to “shadowed craters” (paragraph 1) as places … . 
1) in which water can be produced  2) where water can be stored  
3) created due to lack of heat   4) with no winds 

145- According to the passage, observations by Arecibo ... . 
1) were in agreement with the findings of the bistatic radar experiment 
2) were inaccurate because the radar used was not modern enough  
3) refused an earlier suggestion about water on the Moon 
4) showed that lunar craters are covered with rocks only 

146- There is enough information in the passage to answer which of the following questions? 
1) What are the steps in the photo dissociation process? 
2) What country conducted the bistatic radar experiment? 
3) What makes transporting water from the Earth to the Moon very expensive? 
4) What samples brought to Earth by Apollo 15 did scientists examine to find out if there was water on the 
Moon?

  

PART A: Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer sheet. 
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PASSAGE 2: 

Child labor refers to the employment of children in any work that does not allow children to enjoy their 

childhood, prevents them from attending regular school, and that is mentally, physically, socially or 

morally dangerous and harmful. This practice is what many international organizations are against. 

The law system across the world does not accept child labor. The laws do not consider all work by 

children as child labor; exceptions include work by child artists, family duties, supervised training, 

certain types of work such as those by Amish children, some forms of child work common among native 

American children, and others. 

Child labor has existed to varying extents, through most of history. Before 1940, numerous children 

aged 5-14 worked in Europe, the United States and various colonies of European powers. These children 

mainly worked in agriculture, home-based assembly operations, factories, mining and in services such as 

newsies.  
In developing countries, with high poverty and poor schooling opportunities, child labor is still 

common. In 2010, sub-Saharan Africa had the highest incidence rates of child labor, with several 

African nations with over 50 percent of children aged 5-14 working. Worldwide agriculture is the 

largest employer of child labor. Vast majority of child labor is found in rural areas and informal urban 

economy; children are most often employed by their parents, rather than factories. Poverty and lack of 

schools are considered as the primary cause of child labor. 

147- The first sentence of the passage, “Child labor refers … and harmful,” is a ... . 

1) definition  2) psychological topic  

3) warning  4) national expectation 

148- The passage supports the fact that … . 

1) child labor first began in Europe and United States, but not in sub-Saharan Africa

2) if a child is forced to work by his or her parents, the case is not a case of child labor 

3) some forms of child work are not sometimes considered as instances of child labor 

4) child labor is internationally accepted 

149- The word “those” in paragraph 1 refers to … . 

1) types of work  2) exceptions  

3) family duties  4) laws related to child labor 

150- Why does the author mention African countries in paragraph 3? 

1) To give an example in support of an earlier statement 

2) To indicate the relationship between poverty and child labor 

3) To show the role of parents in causing young children to work 

4) To prove that in countries with a traditional mode of agriculture child labor is ignored 
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 است؟نادرستهاي زیر  چند مورد از عبارت -221

 . اند اندازه هم جایی جابهو ماً مسافت الزاالف) در حرکت جسمی با تندي ثابت،  
 . اندازه نیستند همجایی  جابه ومسافت ماً الزابا شتاب ثابت،  جسمیب) در حرکت 
 در آن دو نقطه است. متحرك جهت با بردار سرعت متوسط  بین دو نقطه، هممتحرك رکتی، بردار شتاب متوسط پ) در هر ح

ف جسمی که از حال سکون سقوط آزادبرخلا ،دارد هاxمحور حرکت خودرویی که شتاب به سمت راست و سرعت به سمت چپ نوعت) 
 شونده است.کند، کند می

1( 4 2 (3 3 (2 4(1 
هـاي زیـر متحـرك الزامـاً      یک از گزینه  باشد، در کدام tمتحرك در لحظۀ  مکانترتیب بردارهاي شتاب، سرعت و  به ddو  aa ،vvاگر  -222

 هستند.) SIقادیر در شدن به مبدأ مکان در این لحظه است؟ (م درحال نزدیک

1( 2a i , v ia i , v2i vv iivv    2( 2 4d i ,a id i2i a i4a i4aa 

3( 5d i , v id i v5 i vv iv ivv  4 ((4 2d i , v id i v4 i vv i2v i2vv 
اي که براي اولین بار از مبـدأ   هصورت شکل زیر داده شده است. تندي متوسط این متحرك از لحظ ـ زمان متحرکی به نمودار مکان -223

13tگذرد تا لحظۀ  مکان می s  چندm
s

 است؟ 

1( 15
11   2 (60

11  

3( 2   4 (3  

در حال حرکت است، مطابق سهمی شکل زیر است. اگر تندي متحـرك در لحظـۀ    xزمان متحرکی که روي محور  –کان نمودار م -224

8t s 20، برابر باm
s

 کند؟ یتغییر م 0x متري باشد، جهت حرکت متحرك در چند 

1( 6 
2 (12 
3 (18 
4 (27 

کند و سه ثانیـه   مبدأ مکان عبور می يمتر 16از  0tدر حال حرکت است، در لحظۀ  xتحرکی که با شتاب ثابت روي محور م -225
8tکند. اگر در لحظۀ  بعد جهت حرکتش تغییر می s  ثانیـه   8در  متحركاین متحرك از مبدأ مکان عبور کند، تندي متوسط

 چند متر بر ثانیه است؟ اول حرکت
1( 25/4 2( 2 3 (4 4(5/8 

 است. اختیاريآموزان  پاسخ دادن به این سؤالات براي همۀ دانش

قیقهد 15 :وقت پیشنهادي 35تا  1هاي  صفحه: اي دینامیک و حرکت دایره /  حرکت بر خط راست:  3 فیزیک

0x
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mکند، مطابق شکل زیر است. اگر سرعت اولیۀ متحرك  زمان متحرکی که روي خط راست حرکت می –نمودار شتاب  -226
s

باشد،  10

 ثانیۀ اول حرکت چند متر بر ثانیه است؟ 10متحرك در  سرعت متوسط
11( 18       
2 (21 6/ 
3( 21 6/ 
4( 10 8/ 

صـورت شـکل زیـر     اند، بـه  از حال سکون به حرکت درآمده در یک مسیر و زمان که هم Bو  Aزمان دو متحرك  –نمودار مکان  -227

/mبرابر  Aاست. اگر شتاب متحرك 
s2

1 از  Bمتحـرك  اي کـه   حظهدر ل Aبه سرعت متحرك  Bباشد، نسبت سرعت متحرك  5

 گزینه است؟ (هر دو نمودار قسمتی از سهمی هستند.)کدام برابر با گیرد،  سبقت می Aمتحرك

1 (1
2 

2 (2 
3 (3 

4 (10
3 

 

از تـر   متر پایین 45و گلولۀ دوم را از  0tدر لحظۀ معینی  ارتفاعاي را از  ، گلولهدر شرایط خلأ و از ارتفاع به اندازة کافی بلند -228
2tدر لحظۀ همان ارتفاع  s  0 ۀاز لحظپس  .کنیمرها میاز حال سکونt کشـد تـا دو گلولـه بـه هـم       چند ثانیه طول می

210m(gبرسند؟  )
s

  

1( 25/3 2 (1 3 (25/1 4(2 

180km ثابتکه با سرعت 400kgاي به جرم  یک خودروي مسابقه -229
h

ل حرکـت  در پیست مسابقه در مسـیري مسـتقیم درحـا    
ناشـی  اندازة شتاب اگر شود.  متر متوقف می 125زمان با باز کردن چتر خود، ترمز گرفته و پس از طی مسافت  است، ناگهان هم

24 ها  ترمز کردن چرخ از  m
s

 چند نیوتون است؟ در طول مسیر ایستادن خودرو،باشد، اندازة متوسط نیروي مقاومت هوا  

1( 2000 2 (1250 3 (1200 4(2400 
هـاي زیـر    از عبـارت  مورداگر جسم در حال تعادل باشد، چند نیروهاي وارد بر یک جسم نشان داده شده است. در شکل زیر،  -230

 صحیح است؟

     است.  WW، نیروي NFNF نیروي العمل الف) عکس
 است. 2F2F، نیروي 1F1F نیروي العمل ب) عکس

 شود.  به سطح زمین اعمال می، WWپ) عکس العمل نیروي 
 شود.  به مرکز زمین اعمال می، WW نیروي ت) عکس العمل

1( 1 2 (2 3 (3 4 (4     
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231-       
1( LiOH  H SO2 4  .          
2 ( (C H OH)2 5      (OH ) .        
3 (      pH      7 .  
4 (        H        .  

232 -     ( )  
.                (  

 (                        
       .    

.                 (  
 (K                .

1(    2(     3 (    4 (    
233 -    aK       

10 1 4 1
24 9 10 4 5 10a(HCN) a(HNO )(K / mol.L , K / mol.L )

1(            HNO2  HCN  .      
2 (      HNO2        HCN   .    
3 (       Mg                  

.     
4 (                 HCN     HNO2 .  

234 -      

      (HA   1                   21
8 

       16.  %  
        (       .     

  (                        
.  
 (pH   pH          pH    7 .

1(      2 (     3 (    4 (   
235-        2 2A (g) B (g) AB(g)    )  05/0        

 4  .  (.   

8t h5t h2t htزمان   
  

1( 160  2 (800  3 (80  4 (16 

3: +    +   +    +   +   +pH  :  1  25   :  10 

         .
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236 - HF      25         .  HF             
3 12 4 10/ mol.L           5 15 76 10/ mol.L   HF      

     )     11g.mL .(11 19(H ,F : g.mol ) 
1( /0 01  2 (/0 04  3 (/0 16  4 (/0 05   

237 -           HX         HX   
  

1(    2 (   

3(    4 (   
238-HA  HB     7 10 04 4 10HB aHA( / ,K mol.L ).  04/0           

100mL     pH  HA pH  HB      )025 C (.   
1 (88/2   2 (88/1   3 (25/2   4 (25/1    

239 -      
 -            .  

 -  .                 

 -                   .  

 -           .  

1 (1  2 (2  3 (3  4 (4  
240 -   

1 (                     .  

2 (         pH    .  

3 (      .        

4 (                       

    .     
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 درس اول امنیت ، تهدید                                              

     ؟ کردند انتخاب خود زندگی محل اولین عنوان به را غارها ، نخستین هاي انسان چرا-1  

 ... و وحشی حیوانات حمله و گرما و سرما و طبیعی خطرات از ماندن امان در براي

 چرا ؟ کردند می زندگی بزرگ اي قلعه در شهر یک یا روستا یک مردم گذشته در چرا -2

 دشمنان مقابل در خود از دفاع براي کشیدند؟ می بارو و دیواربرج خود شهر اطراف آنان

 خود پیشنهادي راهکارهاي،شود واگذار شما به تان مسکونی منزل براي امنیت ایجاد اگر-3

 نماییم استفاده محافظت جهت نرده از ها پنجره یا حیاط براي -1 .دهید ارائه را

 شویم مطمئن گاز هاي لوله بودن سالم از -3 نماییم استفاده سرقت ضد در از -2

 ... و کنیم نصب مداربسته دوربین-4

 باید مدرسه ورودي در -1؟ داد انجام باید را اقداماتی چه مدرسه در امنیت ایجاد براي-4

 بزنیم برچسب بزرگ هاي شیشه روي -2 باشد داشته نگهبان همیشه

 ... و کنیم داري نگه دار قفل هاي قفسه داخل را زا اشتعال و شیمیایی مواد -3

 حضور جامعه در ها کلانتري یا انتظامی پلیس و رانندگی و راهنمایی پلیس اگر (الف-5

 کنید؟ می بینی پیش را اتفاقاتی چه ،باشند نداشته

 و هرج باعث -شود می ترافیک ایجاد باعث و شود نمی رعایت رانندگی و راهنمایی مقررات

 شود می مردم بین در اختلاف و مرج

    نکنند مراقبت کشورمان هوایی و خشکی آبی، مرزهاي از کشور مسلح نیروهاي روزي اگر(ب 

 ؟ کنید می بینی پیش را اتفاقاتی چه

 . رود می بین از ما کشور امنیت و افتند می ما کشور به تجاوز فکر به دشمنان

 منافع علیه که خطراتی از بودن دور یعنی امنیت ؟ چیست امنیت تعریف ترین ساده-6

 وجود ما ...) و اعتقادات فرهنگ، دین،) معنوي هاي ارزش و( ... و سرزمین مال، جان،(مادي

 .دارد

 موجب امنیت داشت؟ خواهد درپی مثبتی آثار چه باشد، برقرار امنیت کشور در اگر -7

 قدرت افزایش باعث همچنین و. شود می کشور اقتصادي پیشرفت و مردم آرامش برقراري

  .شود می نیز دشمنان برابر در نظامی




